C:# Expanding Square Polynomials Using the Box Method  Name:

Expand each problem using the box method. Answers

D (2x+-2x)° 2) (2x+7)? )
2.
3.
4,

9 (9+-6) Y (@1 s
6.
7.
8.

5 (-4x°+-6)° 6 (7x*+7)
9.
10.

D (-AxP+-ax)? %) (8x+5)°

9 (-2x%+6)? 10 (4x%+-4)?
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ﬂh Expanding Square Polynomials Using the Box Method Name: Answer Key

Expand each problem using the box method. Answers
D (+-2x)? 2 (2x+7)° TN
X2 -2X 2x 7 - X AXHAX
x4 x| -2¢° 2x| 4x? | 14x »  AX°4+28x+49
- %3 2 7| 14x | 49
X[ -2 4x s 81x-108x%+36
4 OX*+6x+1
3 2, @2 4) 2
(9x“+ ;3) 2 . (3x+$) ) s 16x°+48x+36
X - X
ox? 81x* | -54x° 3x| 9%* | 3x 6. 49x'+98x%+49
6| -BAx? 1] 3x | 1
0| -5 3 7. 16x*+32x°+16x°
s 64X°+80x+25
5  (Av2i_f)2 6) 2,52
(-4x*+ ?2 . (7x +77) . o Ax-24x*+36
-4x - X
4% 16x* | 24%2 7% 49x* | 49% 0. 16x*-32x+16
-6 | 24x* | 36 7 | 49x° | 49
D (-AxP+-ax)? % (8x+5)°
AxE -4 8k 5
4% 16x* | 16%° 8x| 64x° | 40x
-4x | 16x° | 16x° 5| 40x | 25
9 (-2x%+6)? 10 (4xP+-4)?
2x* 6 a4’ -4
24 axt | -12xP 4%% 16x* | -16x°
6 | -12x° | 36 -4| -16x> | 16
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